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Multiple Choice Questions (40%)
1.

The result that, under certain circumstances, no government action is needed to control an externality because it can|
‘be eliminated by bargaining between the affected parties is called
A) a Nash Equilibrium.

B) Coase Theorem.

C) Bargaining Theorem.

D) English Bargaining.

2.

A risk-neutral individual will make investment decisions purely based on net present value because
A) she doesn't care about utility.

B) because utility is a linear function of wealth.

C) she loves to take risk.

D) net present value is always more than expected utility.

3.

The general equilibrium analysis of @ minimum wage applied to only some sectors of the economy suggests that
A) workers in all sectors will face increased wages.

B) some workers in the covered sectors will lose their jobs and remain/unemployed.

C) some workers originally employed in the covered sectors will move to the uncovered sectors, driving down wages
in the uncovered sectors.

D) all workers will be worse off.

4.

An employee gains $500 from shirking. Thus, to deter shirking, the employer makes employees post a bond equal
to $1,000, and installs monitoring devices to detect shirking. What is the probability that these devices can detect
shirking?

A) 30%

B) 100%

C) 50%

D) 95%
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Johnny has allocated $30 toward coffee and tea and feels that coffee and tea are perfect substitutes. Due to
differences in caffeine levels, his MRS of tea for coffee equals 2. If coffee and tea sell for the same price, Johnny
will

A) spend all $30 on tea.

B) spend all $30 on coffee.

HC) spend $20 on coffee and $10 on tea.

D) be indifferent between any bundle of coffee and tea costing $30.

6.
s long as it does not shut down, a perfectly competitive firm earns, the maximum profit as long as it operates so
A) its price exceeds its average total cost.
iB) market demand is inelastic.
C) its price exceeds its marginal revenue.
D) its marginal revenue equals its marginal cost.

7.
A single-period duopoly firm can ehoose output level A or B. The firm decides it will produce level A regardless of
what the other firm produces. This deeision may occur because
A) producing the output level A is a dominant sirategy.

B) this firm has simply decided t¢ always produec dtlevelAs
C) Both A and B are possible.

D) None of the above.

8.
A person who practices poisonous snake charming and does not reveal this to her health insurance company before
[purchasing insurance is an example of
A) moral hazard.

) adverse selection.
C) signaling.

D) screening.
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0.

The current price floor in the agricultural lettuce market makes it such that price of lettuce is 25% higher than|
lequilibrium price and 100 heads of lettuce are demanded. Assuming that the elasticity of demand for lettuce is -0.50,
what would be the equilibrium price and quantity of lettuce if the government removed the current price floor?

rA) Price = 0.875, Quantity = 125

IB) Price = 1, Quantity = 112.5

IC) Price = $0.75, Quantity = 112.5

D) Price = $0.75, Quantity = 125

10.

If the government desires to raise a certain amount of revenue by taxing a monopoly, an ad valorem tax will
A) generate the same loss of consumer surplus as a specific tax.

B) generate a greater loss of consumer surplus than a specific tax.

C) generate a smaller loss of ¢onsumer surplus thana specific-tax.

|D) generate no loss of consumer surplus.

11.

Which of the following willinot increase equilibrium output in the short run?
A) increases in R&D

B) increases in consumer confidence

C) increases in investment demand

D) increases in government spending

12.
Suppose there is a Fed purchase of bonds-and simultaneoustax.cut..We know with certainty that this combination
of policies must cause

A) an increase in the interest rate (i).
B) a reduction in 1.

() an increase in output (Y).

D) a reduction in Y.
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13..

The natural level of output is the level of output that occurs when
A) the goods market and financial markets are in equilibrium.

iB) the economy is operating at the unemployment rate consistent with both the wage-sefting and price-setting
equations.

C) the markup (m) is zero.

[D) the unemployment rate is zero.

E) there are no discouraged workers in the economy.

14.
Since approximately 1970. the most stable Phillips-type relationship for the United States has been between which|

of the following?

A) the rate of inflation and the chafige in the unemployment rate

B) the unemployment rate and theé change in the rate’cf inflation

C) the change in the unemployment rate and the change in the rate of inflation
) the inverse of the unemployment rate and the rate of inflation

E) the unemployment rate and the rate of inflation

15.
The money demand curve will shift to the left when which of the following occurs?

A) a reduction in the interest rate

B) an increase in the interest rate

C) an open market sale of bonds by the central bank
D) an increase in income

’) none of the above

16.
Assume that an economy experiences both positive population growth and technological progress. A reduction inj
the saving rate will cause

A) no change in K/NA.

B) a permanent reduction in the rate of growth of output per worker.
C) a permanent reduction in the rate of growth of output.

D) no change in Y/NA.

) none of the above
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17.

A reduction in private saving (S) can be reflected in
A) an increase in the budget deficit.

[B) an increase in investment.

C) a reduction in net exports.

D) all of the above

18.

When policy makers decide to revalue the currency, such an action generally represents
A) an increase in the pegged value of the domestie*€urrency.

[B) a decision to let the currency float.

C) a reduction in the foreign price level.

D) an increase in the domestic priee level.

E) none of the above

19.

Adaptive expectations assumes that individuals

A) can accurately predict the future.

B) base predictions on random.events (i.e., animal spirits).

C) form their predictions of macroeconomi¢ variables randomly.
D) use all available information in predicting the future.

{E) none of the above

20.

Research indicates that the more independent.the central bank
A) the smaller the budget deficit.

B) the higher the nominal interest rate.

C) the lower the rate of inflation.

[D) the larger the time inconsistency problem in making policy.
L‘E) the greater the likelihood of a “war of attrition” over policy.
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1. 20%)

a) Explain why the optimal amount of pollution is often not zero. (6%)

) At the competitive equilibrium quantity supplied equals quantity demanded in all markets. True or False? Why?)
(7%)

c) Consider a society consisting of just a farmer and a tailor. The farmer has 10 units of food but no clothing. The

tailor has 20 units of clothing but no food. Suppose each has the utility function U = F * C. The price of clothing

is always $1. If the price of food is $3, does a competitive equilibrium exist? If not, what will happen to the price

of food? (7%)

2. (20%)

a) Suppose the demand for pizza in a small isolated town is p = 10 - Q. There are only two firms, A and B, and
each has a cost function TC =2+ g. Determine the Cournot equilibrium.(7%)

Fb) Suppose the demand for pizza in a small isolated-towrrisp — 10 - Q. There are only two firms, A and B. Each
has a cost function TC = 2+ Q. Determine the equilibrium quantities of each if {irm A is the Stackelberg leader.
(7%)

c¢) Explain the role of advertising in monopolistic competition. Describe how advertising by all firms in a
monopolistically competitive industry impacts a firm's ATC curve, its MC curve, its demand curve, and its MR

curve. (6%)

3. (20%)

a) First, write out the expression/equation for the real exchange rate. Second, explain all factors that determine the
real exchange rate. (5%)

Ib) Explain the difference between gross domestic product and gross national product. (5%)

c) Suppose the interest parity condition-holds. Alse-assume.that the one-year interest rate in the United States is
6% and that the one-year interest rate in Canada is 6%. What does this imply about the current versus future
expected exchange rate (for the U.S. and Canadian dollars)? Explain. (5%)

d) Suppose the one-year nominal interest rate is 2.0% in the United States and 5.0% in Canada. Should you hold|
Canadian bonds or U.S. bonds? Explain. (5%)
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Question 1 (10 43 » 5/5)

BEtHE 10 HRFE  FRFEFEENBRARA (FI0) MTFRAUR |

FiHRFE | 1 2 3 | 4 | 5 | 6 | 7 | 8| 9 |10
X (FUgA) | 40 | 40 | 35 | 40 | 35 | 30 | 30 | 35 | 35 | 30
Y (F2AD) | 30 | 35 | 30 | 30 | 25 | 30 | 30 | 30 | 35 | 25
SAEELL TR -

(DFABEX+Y) = 7 VX +Y) =7

(DX Y ZEHIL?

(Question 2 (15 53 » 5/5/5)

Xy s oo X VB — 4R BRLEAFF 0 (Lid) MRS IR Ho P HB Ryog ©
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Question 3 (1543 » 10/5)
B TELE A, B, C STERAIMBSCRE T, S P 27 [ERER LS £ B TR =HEE -
£ T —{EE AR EIE SR T AT -

e A C 88,79, 82,91, 71,70, 66,77, 56
E 754 B ¢ 78,70, 86, 85, 74, 65, 68, 80, 47
#E T C 72,74, 89,82, 70,58, 72, 72, 45
(1) FE52 8y HiS4HE R ANOVA 5% - ,
(2) L a =0.05 FE A, B, C ZREHE AR HEREMENER -
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T ST 100 Dl B BT T,
Faat® | Db el Z [ 3 v Ne b7 s
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Standard Normal Distribution Table
'
/ N
= e
0 z
z | 00 [ 01 | 02 [ 03 Lab4=fu05 [ 06 [ 07 [ 08 | .09 |
0.0 | .0000 | .0040 | .0080 | .0420 (0160720199 1%.0239 | .0279 | .0319 | .0359
0.1 | .0398 | .0438 | .0478 | 0517 [ .0557 | .0596..0636 | .0675 | .0714 | .0753
0.2 | .0793 | .0832 | .0871| 40910 | .0948 | .0987 | .1026 | .1064 | .1103 | .1141
0.3 | .1179 | 121741255 | 1203 | .1331 | .1368 | .1406"+1443 | .1480 | .1517
0.4 | .1554 | 159141628 | .1664 | 1700 | .1736 | .1772"| 11808 1844 | .1879
0.5 | .19154".1950 | .1985 | 201942054 | .2088.| .2123 | 2157 [n.2190 | 2224
0.6 | .2257 | /2291 | 2324 | 2357 | 2389 | 2422 | 2454 | 2486 | 2517, | 2549
0.7 | 2580 | 2611 | 2642 {2673 | 2704 | 2734 | 2764 |.2794 | 2823 | 2852
0.8 | .2881 /] 2910 | 2939 | 2967 | .2995 | 3023 | 30514/ 3078 | .3106 | .3133
0.9 | 3159 | 3186 | 3212 | .3238 | .3264 | 3289 | 3315 | .3340 | .3365 | .3389
1.0 | 3413 | 3438 | 3461 | .3485.| :3508 {3531 |.3554 [ .3577 | .3599 | .3621
1.1 | .3643,| 3665 | .3686 | .3708.}..3729|..3749.]..3770 | .3790 | .3810 | .3830
1.2 | .3849 14,3869 | .3838 | .3907 | .3525 | 3944 | .3962 | .3980 | 3997 | 4015
1.3 | 4032 | .4049 | 4066, | 4082 | 4099 | 4115 | 4131'| /4147 #4162 | 4177
1.4 | 4192 | 4207 | 4222 1,.4236 | 4251 | 4265 | 4270 | 4292 14306 | 4319
1.5 | 4332 | 4345 | 4357 4370 | 4382 | 4394 | 4406 | 4418 | 4429 | 4441
1.6 | 4452 | 4463 | 4474 | 4484 "+4495 | 4505 | 4515 | 4525 | 14535 | 4545
1.7 | 4554 | 4564 | 4573 | 4582 | 4591 (4599 | 4608 | 4616 | 4625 | 4633
1.8 | 4641 | 4649 | 4656 | 4664 | 4671 | 4678 | 4686 | 4693 | 4699 | 4706
1.9 | 4713 | 47194 .4726 | 4732 | 4733 | 4744 | 4750 | 4756 | 4761 | 4767
2.0 | 4772 | 4778 | 4a83 | 4788 | 47934798 | 4803 j#4808 | 4812 | 4817
2.1 | 4821 | 4826 | 4830 | 4834 | 4838 | .4847 | 4846 | .4850 | .4854 | 4857
2.2 | 4861 | 4864 | 4868 | .4871 | 4875 | 4878 | 4881 | 4884 | 4887 | .4890
2.3 | 4893 | 4896 | .4898 | .4901 | .4904 | 4906 | .4909 | 4911 | 4913 | .4916
2.4 | 4918 | 4920 | 4922 | 4925 | 4927 | 4929 | .4931 | 4932 | 4934 | 4936
2.5 | 4938 | 4940 | 4941 | 4943 | 4945 | 4946 | 4948 | 4949 | 4951 | 4952
2.6 | 4953 | 4955 | 4956 | .4957 | 4959 | 4960 | .4961 | 4962 | 4963 | 4964
| 2.7 | 4965 | 4966 | 4967 | 4968 | .4969 | 4970 | 4971 | 4972 | 4973 | 4974
| 2.8 | 4974 | 4975 | 4976 | 4977 | 4977 | 4978 | 4979 | .4979 | 4980 | 4981
| 2.9 | 4981 | 4982 | 4982 | 4983 | 4984 | 4984 | 4985 | .4985 | 4986 | 4986
| 3.0 | 4987 | 4987 | 4987 | .4988 | 4988 | .4989 | 4989 | .4989 | .4990 | .4990
3.1 | 4990 | 4991 | 4991 | 4991 | 4992 | 4992 | 4992 | 4992 | 4993 | .4993
32 | 4993 | 4993 | 4994 | 4994 | 4994 | 4994 | 4994 | 4995 | 4995 | 4995
3.3 | 4995 | 4995 | 4995 | 4996 | 4996 | 4996 | .4996 | 4996 | 4996 | 4997
3.4 | 4997 | 4997 | 4997 | 4997 | 4997 | 4997 | .4997 | 4997 | 4997 | 4998
3.5 | 4998 | 4998 | 4998 | 4998 | 4998 | 4998 | 4998 | 4998 | 4998 | .4998
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The shaded area is equal to « for t = i,.

df t.100 | t.050 | t:925 t.010 : t.005

1 3.078 6314 T | 31.821 [ 63.657
2 1.886 2.920 4.303 6.965 \ 9.925

3 1.638 2.353 3.182 4541 ! 5.841

4 1.533 2.132 2.776 Baga7 ! 4.604
5 1.476 2.015 2.571 3.365 1 4.032
6 ' 1.440 1.943.. PR 3.143 Jl 3.707
7 1.415 1895 2.365 2.998 ; 3.499
8 1.397 1.860 2.306 2.896 | 3.355
9 1.383 1.833 ; 2.262 | 2.821 w 3.250
10 1.372 1.812 | 2.228 : 2.764 3.169
11 11363 1796 Sbtine | | DB 3.106
12 1.356 1.782 2.179 | 2.681 ; 3.055
13 1.350 1.771 2,160 ' 2.650 ; 3.012
14 1.345 1%61 2.145 2.624 ; 2.977
15 1.341 1,753 2.131 2.602 i 2.947
16 1.3370 N 1.746. midet?0 i 2583 | 2.921
17 1.333 1.740 2.110 2.567 ! 2.898
18 1.330 1.734 2.101 2 559 ! 2.878
19 1.328 1.729 2.093 24839 2.861
20 1.325 : 1.725 | 2.086 2.528 2.845
21 1.323 A I 2.080 " 2518 2831
292 1.321 1.717 2.074 2.508 2.819
23 1.319 1.714 2.069 2.500 2.807
24 1.318 1.711 2.064 2.492 2.797
25 1.316 1.708 2.060 2.485 2.787
26 1.315 1.706 2.056 2.479 2.779
27 1.314 1.703 2.052 2.473 2.771
28 1.313 1.701 2.048 2.467 2.763
29 1.311 1.699 2.045 2.462 2.756
30 1.310 1.697 2.042 2.457 2.750
32 1.309 1.694 2.037 2.449 2.738
34 1.307 1.691 2.032 2.441 2.728
36 1.306 1.688 2.028 2.434 2.719
38 1.304 1.686 2.024 2.429 2.712
o0 1.282 1.645 1.960 2.326 2.576
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Chi-Square Distribution Table
0 &
The shaded area is equal to a for x? = Xx%-

df X.zggs X.ango X.2975 4 50 ; 0 X.guso X?‘uzs X.zom X.zoos
1 0.000 0.000 0.001 0 L 3.841 5.024 6.635 7.879
) 0.010 0.020 0.05 5.991 7.378 9.210 10.597
3 0.072 0.115 ' 9.348 11.345 | 12.838
4 0.207 0.297 v 143 | 13.277 | 14.860
5 0.412 0.5 4 1.610 3 833 | 15.086 | 16.750
6 0.676 0 20 4 16.812 | 18.548
7 0.989 167 2.83: 12.017 34| 18475 | 20.278

| 8 1.344 6 2.7 39( 59 500 20000 | 21.955

|1 9| 1785 2.0 3.3 168 . 30| 21.666 | 23.589

| 10 2.156 5 3.9 4.865 18.3 30| 23.209 | 25.188
11 | 2.603 305 457 57 7075 | 19.6! 24.725 | 26.757
12 3.074 3.5 5.226 ; 28.0 ’3 26.217 | 28.300
13 | 3.565 4.10 5.8 042 19. % 4456 | 27.688 | 29.819
14 | 4.075 4.660 6.5 790 21 3 119 | 29.141 | 31.319
15 | 4.601 5.229 g 261 R.547 M 22.3Q 7.488 | 30578 | 32.801
16 | 5.142 5.812 it 0.312 | 235 8845 | 32.000 | 34.267
17 | 5.697 6.408 0.085 0.191 | 33.409 | 35.718
18 | 6.265 7.015 0.865 1.526 | 34.805 | 37.156
19 | 6.844 7.633 92.852 | 36.191 | 38.582
20 | 7.434 8.260 . _ 34.170 | 37.566 | 39.997
21 | 8.034 8.897 1 3. ; 35.470 | 38932 | 41.401
22 | 8.643 9.542 10.989 2.338 0 30. 389024 | 36.781 | 40.289 | 42.796

| 23 | 9.260 10.196 | 11.689 | 13.001 | 14.848 ; 35.172 | 38.076 | 41.638 | 44.181

|| 24 | 9.886 10.856 | 12.401 | 13.848 | 15650 | 33.196 | 36.415 | 39.364 | 42.980 | 45.559

| 95 | 10520 | 11524 | 13.120 | 14.611 | 16.473 | 34.382 | 37.652 | 40.646 44.314 | 46.928
56 | 11160 | 12.198 | 13.844 | 15379 | 17.292 | 35563 | 38.885 | 41.923 45.642 | 48.290
97 | 11808 | 12,879 | 14573 | 16.151 | 18.114 | 36.741 | 40.113 | 43.195 | 46.963 49.645
o8 | 12.461 | 13.565 | 15.308 | 16.928 | 18.939 | 37.916 | 41.337 | 44.461 48.278 | 50.993
99 | 13.121 | 14256 | 16.047 | 17.708 | 19.768 | 39.087 | 42.557 | 45.722 | 49.588 52.336
30 | 13.787 | 14.953 | 16.791 | 18.493 | 20.599 | 40.256 | 43.773 | 46.979 50.892 | 53.672
20 | 20707 | 22,164 | 24.433 | 26.509 | 29.051 | 51.805 | 55.758 | 59.342 | 63.691 66.766
50 | 27991 | 29707 | 32.357 | 34.764 | 37.689 | 63.167 | 67.505 | 71.420 } 76.154 79.490
60 | 35534 | 37485 | 40.482 | 43.188 | 46.459 | 74.397 | 79.082 | 83.298 | 88.379 91.952
7 43975 | 45.442 | 48.758 | 51.739 | 55.329 | 85.527 | 90.531 | 95.023 | 100.425 104.215
80 | 51172 | 53540 | 57.153 | 60.391 | 64.278 | 96.578 | 101.879 | 106.629 | 112.329 116.321
90 | 59.196 | 61.754 | 65.647 | 69.126 | 73.291 | 107.565 | 113.145 | 118.136 124.116 | 128.299
100 | 67.328 | 70.065 | 74.222 | 77.929 | 82.358 | 118.498 | 124.342 | 129.561 135.807 | 140.169
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Table of Poisson i
Probabilities . ol
For a given value of A, entry X 0.1 0.2 03 04 . 0.5 0.6 0.7 0.8 0.9 1.0
s the probabilty of & 0 09048 08187 07408 06703 06065 05488 04966 04493 04066 03679
1 00905 0.1637 02222 02681 03033 03293 03476 03595 03659 03679
2 00045 00164 00333 00536 00758 00988 0.1217 0.1438 01647  0.1839
3 00002 00011 00033 00072 00126 00198 00284 00383 00494 0.0613
4 00000 00001 00003 00007 00016 00030 00050 00077 00111 00153
5 00000 00000 00000 00001 00002 00004 00007 00012 00020 - 0.0031
€ 00000 00000 00000 00000 00000 00000 00001 00002 00003 0.0005
7 00000 00000 00000 00000 00000 0.0000 00000 0.0000 00000 0.0001
A
X 11 12 13 14 15 1.6 1.7 1.8 19 2.0
0 03329 03012 02725 02466 02231 02019 0.1827 0.1653 0.1496 0.1353
1 03662 036l4==03543 03452 03347 03230 03106 02975 02842 02707
2 020144 0.2169-0:0.2303 02417 02510 02584 02640 02678 02700 02707
3 00738 40,0867 00998 0128 01255 01378 01496 0.1607 -0.1710 0.1804
4 000203 00260 00324 00395 00471 00551 00636 00723 00812 ' 0.0902
5 00045 00062 00084 00111 00141 00176 00216 00260 0.0309 :0.0361
6 00008 000I2 00018 00026 00035 00047 00061 00078 00098 1 0.0120
700001 00002 00003 00005 0.0008 00011 00015 00020 0.0027 +.0.0034
8 00000 0000000001 00001 0000100002 00003 00005 00006 : 0.0009
9 0000000000 00000 00000 00000 00000, 00001 0.0001 0.0001 " 0:0002
By J 21 2.2 23 2.4 25 2.6 2.7 2.8 29 .30
0! 01225 01108 01003 00907 00821 00743 00672 00608 0.0550 10,0498
1| 0257202438 02306+ 02177 02052 (04831 [0.1815 0.1703 0.159 01494
2 02700 02681 02652 02613 02565 02510 F02450 02384 02314 0.2240
31 0189001966 020337702000 02138 021761 02205 02225 02237 0.2240
4 00992 0.1082 01169 01254 [0.1336 0.14)04 0.1488 0.1557 0.1622  0.1680
5 400417 00476 00538 00602 J 00668 (0735 00804 00872 00940 '
6. 00146 00174 00206 0024 00278 00319 00362 00407 0.0455 0
7 00044 00055 00068 0.0083 (00099 00118 00139 00163 00188
8  00011% 00015 00019 00025 00031 00038 00047 00057 0.0068
9 00003 0000400005 00007 00009 00011 00014 00018 0.0022.
10 00001 0000 00001 00002 00002 00003 00004 0.0005 0.0006
11 00000 00000 00000 00000 00000 (00001 00001 00001 0:0002 00002
12 00000 00000 00000 00000 00000 0.0000 0.0000 00000 0.0000 00001
A fesnd
X 31 3.2 3.3 34 3.5 3.6 37 38 39 40
0 00450 00408 00369 00334 00302 00273 00247 00224 0.0202 L0.0183
1 01397 01340 0.1217 0.1135 0.1057 00984 = 00915 00850 0.0789 0.0733,
2 02165 02087 02008 01929 01850 01771 0.1692 0.1615 01539 . 0.1465
3 02237 02226 02209 0218 02158 02125 02087 02046 02001 0.1954,
4 01734 01781 01823 . 01858 0.1888 01912 01931 01944 0.1951 01954
S 01075 01140 01203 01264 01322 01377 0.1429 01477 01522 0.1563
6 00555 00608 00662 00716 00771 00826 00881 00936 0.0989 0.1042
7 00246 00278 00312 00348 00385 00425 00466 00508 00551 0.0595
8 0.0095 00111 00129 00148 00i69 00191 00215 00241 00269 0.0298
9. 00033 00040 00047 00056 00066 00076 00089 00102 00116 00132
10 0.0010- 00013 '0.0016 ‘00019 00023 0.0028 00033 00039 00045 00053
1170.0003 ~©0.0004 00005 - 0.0006 0.0007 ~0.0009 0.0011 0.0013 . 0.0016 = 0.0019
1200001 °0.0001 00001 “°0.0002 0.0002 0.0003 0.0003 0.0004  0.0005 0.0006
13 00000 00000 0.0000 * 0.0000 - 0.0001 0.0001 00001 00001 00002  0.0002,

14 00000 . 00000 00000 00000 0.0000 0.0000 0.0000 00000 0.0000 . 0.0001
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1. (21%) HEETIIEMBRTSEE -

(1). O%) FIB=FEEBRERRE T RAVEEEHMGE -

Q). O%) HEERFEAFEFENRBERE - BRERRAYEFTARENR L ERER
FRIRHIRE - 58 = B A ES T BRRIRIERSET °

@). 3%) BT (ZERERFEFERX) B 29 REUTHRE : "8 E5 - EZE=A8RBRAFTR
ZRREN KRBT AR S BAR (KBRS EEF =8 HRRARRERARY
HEtRZ - ) Halmit— T ERE g et JBE.

2. (16%) BEE TIIEMES FEHE

(V). (8%) TEREEA A% (defined benefit pension plan) HVESMRT @ FERUFTRE? BIREG
i SRR TE?

(2). (8%) FERESEHZIEH] (defined contribution pension plan) S 4T » BRAMITAE? B
PREEAT ST 2 ?

3. (12%) MBS HIE > o38 TH# F&%, (underground economy)? Rosen 5
Gayer FT&EHRIE (M BZ)-FLUATFEE S E(Rublic Finance » 55 10 i » 369 H) *

FERREAESLEEER T - TPV T & EF] -
“Then under certain conditions, the existence of an underground economy raises social

welfare.”
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4. (16%) Answer the following questions in the discussion of public good provision:

(1). (8%) Some argues that perfect price discrimination is a way to solve the free rider problem
associated with public good provision. Why?

(2). (8%) Please explain the basic concept of the Clarke-Groves mechanism.

5. (15%) Answer the following questions with regard to pollution reduction:

(1). (9%) What are the problems associated with Pigouvian taxation when it comes to correcting
distortion caused by externality?

(2). (6%) From a long run perspective, why is Pigouvian subsidy not a good measure to deal with
externality?

6. (20%) Suppose that the demand curve fox a particular commeodity is 0" =a—- [P, where
QP is the quantity demanded, P isthe price,and @,/ are constants, both larger than
zero. The supply curve for the commodity is 0% =y +5P,where O° is the quantity
supplied, P is the price,and 5 are constants, § > 0.Prove algebraically that the post-
tax equilibrium (consisted of a consumer price, a producer price, and the quantity associated
with these prices) is the same regardless of whether the tax is imposed on consumers or
producers.
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